Previous notes from ch.6:

Principal values create a unique (one) solution:
SinO and Tan® — Quadrant I (+)
Quadrant IV (-)
Cosd — Quadrant I (+)
Quadrant II (-)

T UPPER CASE letters are often used to indicate
principal values (domain and range restrictions)
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bz 2 5 Quadrants 1,1V
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AdditiOna  notes.

cosx =+ ‘ cosx| 0°<x< 7 Quadrants1,Il
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NEW!! Ch.5 Inverse Notation:

.1 : .41
arcsmi has the same meaning as sin >

1
IMPORTANT! Both can be rewritten as: sinf = —

2

V2 V2

. —1
arccos EY has the same meaning as cos EY

arctan\/g has the same meaning as tan™’ \/3



Summary of ch.5 Inverse Notation:
Sint(%)/and Arcsin(Vz)‘ both indicate
you are performing an inverse
operation (not a reciprocal!!l)

Therefore... Sin't(%) and Arcsin(¥:)
can both be rewritten as |Sinx = 1.

*Similar 1dea:

J9 indicates an operation.

although it can be rewritten as x” =9




TODAY’S ASSIGNMENT #1-30...NO CALCULATOR!

Ch.5 Unit Circle Practice

NAME:

A. Define each function in terms of x and y (based on the unit circle with r = 1)

bsinﬂ=@ cggﬂ=@ tan 8= }9/ csc 8= ! sec 9= |
v r Pa \6

B. Principal Values: To find a unique solution for sinx and tanx, refer only to Quadrant

X

PER:

X
cot 8=""

Y

T oIt

To find a unique solution for cos x, refer only to Quadrant I_ or E
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Check answers A, B, and #1-30:
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Refer to one of your unit circles resource pages from the past few days to answer the following questions:

Hint: THO general solutions each!!

J) tamp= T

Refer to x and y 3
. 26. arcsin
coordinates on , R |
unit circle to 6 I n 9 - ? Hint: ONE solution each!!

H - Sme and T have principal values 1

|dent|fy the quadgaats Iarxiil;t\«'lou;_,".'——l-——~ 3 \
proper angle. \'j i \resin (0) =@Zln$‘ 21|
/__ 28. Arctan ( ‘"IITS} =
NE Vi P Sinallest

29. Arctan (-1) _ Fogsl\p\a
. —44/3 L G lQ.a
SD, Arcts ST
Qﬂ retan ( 1 ) V\ﬁ

~——

Hint for #1-20: add or subtract a rotation of 21 if given angle is less than 0 or greater than 27




Refer to one of your unit circles resource pages from the past few days to answer the following questions:

Evaluate using exaet answers. 11 & S
2 . s —=
No caleulator!! 3
) . S5 -
.8 —= Sa
3 12, tan—=
Sar y
2. cos—= 13, smm=
6
2 i
3. tan —— = 14. sin—=
4
S )
4 Taﬂ| _T = g
15. tan—=
” &}
5. cos—=
3 . 197
16. sin =
S 6
6 L:::nl— o~
G )} - 5m
17. cos =
T B
S
18. tan =
i ST
B. sin =
S
. 19. cos z =
l'_I:F
Q. cos =
20, tan |——FT =
107 L %
10. tan——= ;
&

Hint for #1-20: add or subtract a rotation of 21 if given angle is less than 0 or greater than 27









